v 4 —_—
7 M1=#FF >2RBERFHLeTHRF == RT 7
#1: 4 Infinity(82.45) #: 6 IJ_I(79 17) #3:.5 K 4312?3(79 11)
1 NS: #7% HEEI0) -11 8 NS: BRE# BREIB(BAC) 2 VP:| 6.00 14.00 | Total VP: 50.04 Rank:
EW: $8{—5¢ Mh&eREAC) -2 EW: =55 BEE(BAO) 11 IMP:| 18 30 9
— I I
# 21 a8 6CE-2100 Mean: 6CE-2 100 7.0 1 |[# 22 o JT97 2HE-1 100 Mean: 2HXE-1 200 2.0 1
v JT63 3NW4 -430 -200 5CXE-1 100 7.0 1 v38 2HXE-1200 150  2HE-2 200 20 3
¢ 8532 Dif: 530 NS:7  4HW-1 50 60 1 ¢ J842 Dif: -100 NsS:-2 A 00 2
& AB75 IMP: 11 EW:6 4CE4 130 20 1 & AK87 IMP: -3 EW:-2 2NS2 120 1.0 1
» AJ73 s Q A 00 2 ||a A8B654 » Q2 2HE-1 100 20 3
v AK754 v Q2 3NW4 430 60 4 ||w 75 — v AQJ642
* 76 | * AJT4 + K63 + 975
& 43 & QJT962 » J95 & QT
% ¢ VBN 4 KTI6542 FOVAN 4, K3
N ~~~~~ v 98 N 33~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ * 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3HN3 140 Mean: 2HN4 170 2.0 1 ||# 24 » J6 3SW-150 Mean: 3SN3 140 50 1
v AKQ92 3CE-1100 110  1NN4 180 2.0 2 v Q52 3SW-150 -40  3SW-1 50 30 3
¢ 543 Dif: 40 NS:1  3HN3 140 1.0 2 ¢ A93 Dif: 0 NS:3 A 00 2
& A6 IMP: 1 EW:0 2HN3 140 1.0 1 & QJ862 IMP: 0 EW:-3 2SW3 140 3.0 2
& T7632 a K A 00 2 ||as AQ872 & T54 2NE4 180 -4.0 1
v 85 + v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
+ Q876 ¢ AKJ 3CE3 110 6.0 1 ¢+ QM4 ¢ K75
& 97 S » KQ8432 a K97
e VABN oA4 oo VAN 4 K3
N ~~313 #J73 N ~~~~~ v 843
S ~~313 ¢T92 S ~m~~~ ~ o T862
E 21~~~ &JT5 E ~~332 &A53
W 21~~~ ~~332
# 25 43 4HN5 450 Mean: 4HN5 450 30 5 ||# 26 a9 4SE4 -620 Mean: 4SE-1 100 70 5
v AK9852 3HN5200 350 A 00 2 v J73 4SE-1100 -170 A 00 2
o JT Dif: 250 NS:3 3SW-2 200 -40 1 + K983 Dif: -720 NS:-10 4SE4 620 -100 3
» K865 IMP: 6 EW:4 3HN5 200 -40 1 & AJBB3 IMP: -12 EW:-7
& QT985 » K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v 63 v Q4 v AB52 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 »JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 &Q9542
W o~ ~~2~ ~~242
# 27 aT 3NE5 -460 Mean: 6HW-1 50 80 2 ||# 28 a8 2HN-4 -400 Mean: 4SW-3 150 6.0 1
v Q7 4HWS5 -450 -310 A 00 2 v AJ874 2NE2 -120 -90  4HW-2 100 50 1
‘ T987432 Dif: -10 NS:-4 4SE4 420 3.0 2 ¢ QT975 Dif: -280 NS:-7 3CW-2 100 50 1
& AT7 IMP: 0 EW:4 4HW4 420 30 1 & 97 IMP: -7 EW:1  4HW-1 50 40 1
& K97 & A8653 4HW5 -450 -40 2 | |a AK762 & 95 A 00 2
v AK9652 v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
* A6 ¢ KQ ¢ AK + 864 3DN-2 200 -3.0 1
& » KJ42 » Q5 & KJ632 3NE3 -400 70 1
ooV ABN ,Q42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
N ~~~~~ v T83 N ~1~~~ b
S ~~~~~ ¢ J5 S ~1~~~ ¢J32
E ~~555 #9653 E 2~222 a&AT84
W ~~555 2~222
# 29 4 643 3CS-1-100 Mean: 3NS3 600 10.0 2 ||# 30 473 3NE-2 100 Mean: 3NE-3 150 50 1
v T7 2NS3150 140 A 00 2 v 74 3NE-3150 -30  3CW-3 150 50 1
* Q92 Dif: -250 NS:-6 2NS3 150 0.0 1 * A732 Dif: -50 NS:4  3NE-2 100 40 2
a.AKJTS IMP: -6 EW:0 2SS2 110 1.0 1 & QJ732 IMP: -2 EW:-5 3CW-2 100 40 1
» KJ8 s T97 1NN2 120 1.0 1 ||a AT » Q984 A 00 2
v A8653 v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 410 20 1
¢ KIT + ¢ A8743 3Cs1 100 60 1 ||e QT9 + J86 3NW3 400 9.0 1
& 85 » 32 2DN-2 200 -8.0 1 ||& AKT865 a4 3NE3 400 9.0 1
¢ VAN 4AQ52 % ¢ VBN 4 KIG52
N 2~~21 «KQJ N ~~~~~ v K632
S 3~~22 #65 S ~~~~~ + K54
E ~21~~ &Qo74 E1~3~2 &9
W ~21~~ 1~3~2
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#1: 4 Infinity(82.45) #2: 6 LUYG(79.17) #3: 5 1 4:45(79.11)
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NS: S4f4: 251§ ¥EGHO) -34 4 NS: BRZ<F MigF(BAC) 30 VP:| 0.00 20.00 | Total VP: 67.37 Rank:
EW: #iET SEBEEIC) -30 EW: B 2I2E(B0) 34 IMP:| 11 62 6
I I
a8 3NW4 -430 Mean: 6CE-2 100 7.0 1 [[|# 22 s JT97 2HE-1 100 Mean: 2HXE-1 200 2.0 1
v JT63 5CXE-1100 -200 5CXE-1 100 7.0 1 v38 2NS2120 150  2HE-2 200 20 3
¢ 8532 Dif: -530 NS:-6 4HW-1 50 60 1 o J842 Dif: 20 NS:-2 A 00 2
& AB75 IMP: -11 EW:-7 4CE4 130 20 1 & AK87 IMP: -1 EW:1 2NS2 120 1.0 1
s Q A 00 2 ||s AB654 s Q2 2HE-1 100 20 3
v Q2 3NW4 430 60 4 ||w75 — v AQJ642
| * AJT4 + K63 + 975
& QJT962 » J95 & QT
& KT96542 FOVAN 4, K3
v 98 N 33 ~~3 »KT93
+ KQ9 S 33~~3 ¢AQT
» K E ~~~~~ &» 6432
» Q98 3CE3 -110 Mean: 2HN4 170 2.0 1 ||# 24 » J6 2SW3 -140 Mean: 3SN3 140 50 1
v AKQ92 1NN4 180 110  1NN4 180 2.0 2 v Q52 1NE4 -180 -40  3SW-1 50 30 3
¢ 543 Dif: -290 NS:-6 3HN3 140 1.0 2 ¢ A93 Dif: 40 NS:-3 A 00 2
& A6 IMP: -7 EW:-2 2HN3 140 1.0 1 & QJ862 IMP: 1 EW:4 2SW3 140 3.0 2
a K A 00 2 ||a AQ872 a T54 2NE4 180 40 1
+ v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
* AKJ 3CE3 410 60 1 ||e QJ4 * K75
S » KQ8432 a K97
» AJS4 e VAN 4, KI3
v J73 N ~~~~~ v 843
¢ T92 S ~~~~~ + T862
& JT5 E ~~332 &A53
~~332
43 3SW-2 200 Mean: 4HN5 450 30 5 ||# 26 a9 4SE4 -620 Mean: 4SE-1 100 70 5
v AK9852 4HN5 450 350 A 00 2 v J73 4SE-1100 -170 A 00 2
o JT Dif: -250 NS:-4 3SW-2 200 -40 1 ¢ K983 Dif: -720 NS:-10 4SE4 620 -100 3
» K865 IMP: -6 EW:-3 3HN5 200 -40 1 & AJBB3 IMP: -12 EW:-7
» K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v Q4 v AB52 _I_ v Q94
+ AQ8 * AJ52 ¢ Q7
& 9743 K & T7
& AJ7 oo VAN 4143
v JT7 N ~~~~~ v KT8
o K5432 S ~~~~~ ¢ T64
& JT E ~~242 & Q9542
~~242
aT 6HW-150 Mean: 6HW-1 50 80 2 ||# 28 a8 3NE3 -400 Mean: 4SW-3 150 6.0 1
v Q7 4SE4 -420 310 A 00 2 v AJ874 4HW-150 -90  4HW-2 100 50 1
‘ T987432 Dif: 470 NS:8 4SE4 420 3.0 2 ¢ QT975 Dif: -450 NS:-7 3CW-2 100 50 1
& AT7 IMP: 10 EW:3 4HW4 420 30 1 & 97 IMP: -10 EW:-4 4HW-1 50 40 1
~ A8653 4HW5 450 -40 2 ||a AK762 a 95 A 00 2
v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
¢ KQ ¢ AK + 864 3DN-2 200 -3.0 1
» KJ42 » Q5 & KJ632 3NE3 -400 -7.0 1
& QJ42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
v T83 N ~1~~~ 5
¢ J5 S ~1~~~ ¢J32
& 9653 E 2~222 a&AT84
2~222
4 643 2DN-2 -200 Mean: 3NS3 600 10.0 2 ||# 30 473 3NE-2 100 Mean: 3NE-3 150 50 1
v T7 3NS3600 140 A 00 2 v 74 3CW-3150 -30 3CW-3 150 50 1
* Q92 Dif: -800 NS:-8 2NS3 150 0.0 1 ¢ A732 Dif: -50 NS:4 3NE-2 100 40 2
* AKJT6 IMP: -13 EW:-10 2SS2 110 1.0 1 & QJ732 IMP: -2 EW:-5 3CW-2 100 40 1
s T97 1NN2 120 1.0 1 |[|a AT » Q984 A 00 2
v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 110 20 1
+ ¢ A8743 3CS-1 100 60 1 ||e QT9 * J86 3NW3 400 9.0 1
» 32 2DN-2 200 -8.0 1 ||& AKT865 a4 3NE3 400 9.0 1
& AQ52 % ¢ VAN 4 KIG52
v KQJ N ~~~~~ v K632
¢ 65 S ~~~~~ ¢ K54
& Q974 E 1 3~2 &9
1~3~2




v ‘; —_—
7 #E5F > ABERFHLEFTEE = RT 7
#1: 4 Infinity(82.45) #2: 6 [J_I(79 17) #3:.5 K é[312)3(79 11)
3 NS: (B80) 0 10 NS: (BAC) 0 VP:| 10.00 : 10.00| Total VP: 68.09 Rank:
EW: (#IC) 0 EW: (80)0 IMP:| 0 0 5
e R
# 21 a8 Mean: 6CE-2 100 7.0 1 ||# 22 s JT97 Mean: 2HXE-1 200 2.0 1
v JT63 200 5CXE-1 100 7.0 1 v38 150  2HE-2 200 20 3
¢ 8532 Dif: NS:0 4HW-1 50 60 1 ¢ J842 Dif: NS0 A 0.0 2
* A875 IMP: EW:0 4CE4 430 20 1 & AK87 IMP: EW:0 2NS2 120 1.0 1
s AJ73 s Q A 00 2 ||a A8654 » Q2 2HE-1 100 20 3
v AK754 v Q2 3NW4 430 6.0 4 ||e 75 — v AQJ642
* 76 | * AJT4 + K63 + 975
& 43 & QJT962 & J95 & QT
o 4 VBN 4 KTI6542 e VAN 4, K3
N ~~n~~~ v 98 N 33~~3 vKT93
S ~~~~-~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ # 6432
W 4~3~3 W e
# 23 » Q98 Mean: 2HN4 170 20 1 |[|# 24 a J6 Mean: 3SN3 140 50 1
v AKQ92 110  1NN4 180 20 2 v Q52 440 3SW-1 50 30 3
¢ 543 Dif: NS:0 3HN3 140 1.0 2 + A93 Dif: NS0 A 0.0 2
» AB IMP: EW:0 2HN3 140 10 1 » QJ862 IMP: EW:0 2SW3 140 3.0 2
& T7632 a K A 00 2 ||as AQ872 & T54 2NE4 180 -40 1
85 + v T64 3cE1 100 00 1 ||e K76 v AJT9 INE4 180 40 1
+ Q876 ¢ AKJ 3CE3 110 6.0 1 ¢ QM4 + K75
& 97 S & KQ8432 & K97
e VABN oA4 ¢ VABN 4 K33
N ~~313 #J73 N ~~~~~ v 843
S ~~313 ¢T92 S ~m~~~ ~ o T862
E 21~~~ &JT5 E ~~332 &A53
W 21~~~ ~~332
# 25 a3 Mean: 4HN5 450 30 5 |[|# 26 49 Mean: 4SE-1 00 70 5
v AK9852 350 A 00 2 v J73 470 A 0.0 2
o JT Dif: NS:0 3SW-2 200 40 1 + K983 Dif: NS:0 4SE4 620 -10.0 3
» K865 IMP: EW:0 3HN5 200 40 1 *» AJB63 IMP:  EW:0
4 QT985 # K642 2HN5 200 -40 1 ||s Q876 a AKJT52
v 63 v Q4 v AB52 _I_ v Q%4
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 FOIVABN 443
N ~25~1 «JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S~~~ o T64
E ~~~1~ &JT E ~~242 &Q9542
W~~~ 2~ ~~242
# 27 aT Mean: 6HW-1 50 80 2 ||# 28 8 Mean: 4SW-3 150 6.0 1
v Q7 310 A 00 2 v AJ874 90 4HW-2 100 50 1
‘ T987432 Dif: NS:0 4SE4 420 30 2 + QT975 Dif: NS:0 3CW-2 100 50 1
& AT7 IMP: EW:0 4HW4 420 30 1 & 97 IMP: EW:0 4HW-1 50 40 1
» K97 & A8653 4HW5 -450 -40 2 | |a AK762 s 95 A 00 2
v AK9652 v J4 3NE5 460 40 1 ||e K963 | v QT2 2NE2 420 1.0 1
* A8 + KQ ¢ AK * 864 3DN-2 200 30 1
& » KJ42 » Q5 » KJ632 3NE3 -400 70 1
eV ABN ,QJ42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
N ~~~~~ v T83 N~1~~~ 95
S ~~=~~~ +J5 S ~ 1~~~ ¢J32
E ~~555 #9653 E 2~222 &AT84
W ~~555 2~222
# 29 8643 Mean: 3NS3 600 100 2 |[|# 30 473 Mean: 3NE-3 150 50 1
v 17 140 A 00 2 v 74 30 3CW-3 150 50 1
Q92 Dif: NS:0 2NS3 150 0.0 1 o A732 Dif: NS:0 3NE-2 100 40 2
.|.AKJT6 IMP: EW:0 2SS2 10 10 1 » QJ732 IMP: EW:0 3CW-2 100 40 1
s KJ8 a T97 1NN2 120 1.0 1 ||aAT » Q984 A 00 2
v A8653 v 942 3NS-1 400 60 1 ||v 98 v AQJT5 2HE2 410 20 1
¢ KIT + ¢ A8743 3Cs1 100 60 1 ||e QT9 + J86 3NW3 400 9.0 1
* 85 » 32 2DN-2 200 80 1 ||s AKT865 a4 3NE3 400 9.0 1
oo VABN 4 AQ52 %o+ VABN 4 KIBE2
N 2~~21 «KQJ N ~~~~~ v K632
S 3~~22 ¢65 S ~~ o~~~ + K54
E ~21~~ &Q974 E1~3~2 a9
W ~ 21~ ~ 1~3~2
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#1: 4 Infinity(82.45) #2: 6 LUYG(79.17) #3: 5 1 4:45(79.11)
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112z
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NS: BEESF FREEFEAC) 30 2 NS: SE#i4 & FEIo) -3a| VP:| 20.00 : 0.00 | Total VP: 82.45 Rank:
EW: #5 SIREEBHO) 34 EW: &g REB(BAC) -3 IMP:| 62 1 1
I A
a8 3NW4 430 Mean: 6CE-2 100 7.0 1 [[|# 22 s JT97 2HE-1 -100 Mean: 2HXE-1 200 2.0 1
v JT63 5CXE-1-100 -200 5CXE-1 100 7.0 1 v38 2NS2 -120 150  2HE-2 200 20 3
¢ 8532 Dif: 530 NS:7  4HW-1 50 60 1 ¢ J842 Dif: 20 NS:-1 A 00 2
& AB75 IMP: 11 EW:6 4CE4 130 20 1 & AK87 IMP: 1 EW:2 2NS2 120 1.0 1
s Q A 00 2 ||s AB654 s Q2 2HE-1 100 20 3
v Q2 3NW4 430 60 4 ||w75 — v AQJ642
| * AJT4 + K63 + 975
& QJT962 » J95 & QT
& KT96542 FOVAN 4, K3
v 98 N 33 ~~3 »KT93
+ KQ9 S 33~~3 ¢AQT
» K E ~~~~~ &» 6432
» Q98 3CE3 110 Mean: 2HN4 170 2.0 1 ||# 24 » J6 2SW3 140 Mean: 3SN3 140 50 1
v AKQ92 1NN4 -180 110  1NN4 180 2.0 2 v Q52 1NE4 180 -40  3SW-1 50 30 3
¢ 543 Dif: 290 NS:2  3HN3 140 1.0 2 ¢ A93 Dif: -40 NS:-4 A 00 2
& A6 IMP: 7 EW:6 2HN3 140 1.0 1 & QJ862 IMP: -1 EW:3 2SW3 140 3.0 2
a K A 00 2 ||a AQ872 a T54 2NE4 180 40 1
+ v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
* AKJ 3CE3 410 60 1 ||e QJ4 * K75
S » KQ8432 a K97
» AJ54 oo VAN 4 K3
v J73 N ~~~~~ v 843
¢ T92 S ~~~~~ + T862
& JT5 E ~~332 &A53
~~332
43 3SW-2 -200 Mean: 4HN5 450 30 5 ||# 26 a9 4SE4 620 Mean: 4SE-1 100 70 5
v AK9852 4HN5 -450 350 A 00 2 v J73 4SE-1-100 -170 A 00 2
o JT Dif: 250 NS:3 3SW-2 200 -40 1 ¢ K983 Dif: 720 NS:7 4SE4 620 -100 3
» K865 IMP: 6 EW:4 3HN5 200 -40 1 & AJBB3 IMP: 12 EW:10
» K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v Q4 v AB52 _I_ v Q94
+ AQ8 * AJ52 ¢ Q7
& 9743 K & T7
& AJ7 oo VAN 4143
v JT7 N ~~~~~ v KT8
o K5432 S ~~~~~ ¢ T64
& JT E ~~242 & Q9542
~~242
aT 6HW-1-50 Mean: 6HW-1 50 80 2 ||# 28 a8 3NE3 400 Mean: 4SW-3 150 6.0 1
v Q7 4SE4420 -310 A 00 2 v AJ874 4HW-1-50 -90  4HW-2 100 50 1
¢ T987432 Dif: -470 NS:-3 4SE4 420 3.0 2 ¢ QT975 Dif: 450 NS:4 3CW-2 100 50 1
& AT7 IMP: -10 EW:-8 4HW4 420 30 1 & 97 IMP: 10 EW:7 4HW-1 50 40 1
~ A8653 4HW5 450 -40 2 ||a AK762 a 95 A 00 2
v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
¢ KQ ¢ AK + 864 3DN-2 200 -3.0 1
» KJ42 » Q5 & KJ632 3NE3 -400 -7.0 1
& QJ42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
v T83 N ~1~~~ 5
¢ J5 S ~1~~~ ¢J32
& 9653 E 2~222 a&AT84
2~222
4 643 2DN-2 200 Mean: 3NS3 600 10.0 2 ||# 30 473 3NE-2 -100 Mean: 3NE-3 150 50 1
v T7 3NS3-600 140 A 00 2 v 74 3CW-3-150 -30  3CW-3 150 50 1
* Q92 Dif: 800 NS:10 2NS3 150 0.0 1 ¢ A732 Dif: 50 NS:5 3NE-2 100 40 2
* AKJT6 IMP: 13 EW:8 2SS2 110 1.0 1 & QJ732 IMP: 2 EW:-4 3CW-2 100 40 1
s T97 1NN2 120 1.0 1 |[|a AT » Q984 A 00 2
v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 110 20 1
+ ¢ A8743 3CS-1 100 60 1 ||e QT9 * J86 3NW3 400 9.0 1
» 32 2DN-2 200 -8.0 1 ||& AKT865 a4 3NE3 400 9.0 1
& AQ52 % ¢ VAN 4 KIG52
v KQJ N ~~~~~ v K632
¢ 65 S ~~~~~ ¢ K54
& Q974 E 1 3~2 &9
1~3~2




v 4 —_—
7 M1=#FF >2RBERFHLeTHRF == RT 7
#1: 4 Infinity(82.45) #: 6 [J_I(79 17) #3:.5 K 43103(79 11)
5 NS: P85 A5=Eh(5H0) 8 7 NS: 2BR3E SR{EAR(BAC) -3| VP:| 13.14 : 6.86 Total VP: 79.11 Rank:
EW: #5iA35t BRAERE(EAC) 3 EW: EII7R EBE(BAO) -8 IMP:| 25 16 3
— I I
# 21 a8 4CE4 -130 Mean: 6CE-2 100 7.0 1 ||# 22 » JT97 2HE-1100 Mean: 2HXE-1 200 20 1
v JT63 3NW4 -430 -200 5CXE-1 100 7.0 1 v38 2HE-2200 150  2HE-2 200 20 3
¢ 8532 Dif: 300 NS:2 4HW-1 50 60 1 ¢ J842 Dif: -100 NsS:-2 A 00 2
& AB75 IMP: 7 EW:6 4CE4 130 20 1 & AK87 IMP: -3 EW:-2 2NS2 120 1.0 1
» AJ73 s Q A 00 2 ||a AB654 » Q2 2HE-1 100 20 3
v AK754 v Q2 3NW4 430 60 4 ||w 75 — v AQJ642
* 76 | * AJT4 + K63 + 975
& 43 & QJT962 » J95 & QT
% ¢ VBN 4 KTI6542 FOVAN 4, K3
N ~~~~~ v 98 N 33~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ * 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 2HN3 140 Mean: 2HN4 170 2.0 1 ||# 24 » J6 2SW3 -140 Mean: 3SN3 140 50 1
v AKQ92 2HN4 170 110  1NN4 180 2.0 2 v Q52 3SN3 140 -40  3SW-1 50 30 3
¢ 543 Dif: -30 NS:1  3HN3 140 1.0 2 ¢ A93 Dif: -280 NsS:-3 A 00 2
& A6 IMP: -1 EW:-2 2HN3 140 1.0 1 & QJ862 IMP: -7 EW:-5 2SW3 140 3.0 2
& T7632 a K A 00 2 ||as AQ872 A T54 2NE4 180 -4.0 1
v 85 + v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
+ Q876 ¢ AKJ 3CE3 110 6.0 1 ¢+ QM4 ¢ K75
& 97 S » KQ8432 a K97
¢ VAN oA oo VAN 4 K3
N ~~313 #J73 N ~~~~~ v 843
S ~~313 ¢T92 S ~m~~~ ~ o T862
E 21~~~ &JT5 E ~~332 &A53
W 21~~~ ~~332
# 25 43 4HN5 450 Mean: 4HN5 450 30 5 ||# 26 a9 4SE-1 100 Mean: 4SE-1 100 70 5
v AK9852 4HN5 450 350 A 00 2 v J73 4SE-1100 -170 A 00 2
o JT Dif: 0 NS:3 3SW-2 200 -40 1 ¢ K983 Dif: 0 NS:7 4SE4 620 -100 3
» K865 IMP: 0 EW:-3 3HN5 200 -40 1 & AJBB3 IMP: 0 EW:-7
& QT985 » K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v 63 v Q4 v AB52 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 »JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 &Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE4 -420 Mean: 6HW-1 50 80 2 ||# 28 a8 3CW-2 100 Mean: 4SW-3 150 6.0 1
v Q7 4HW4 -420 -310 A 00 2 v AJ874 3DN-2 -200 -90  4HW-2 100 50 1
¢ T987432 Dif: 0 NS:-3 4SE4 420 3.0 2 ¢ QT975 Dif: 300 NS:5 3CW-2 100 50 1
& AT7 IMP: 0 EW:3 4HW4 420 30 1 & 97 IMP: 7 EW:3  4HW-1 50 40 1
& K97 & A8653 4HW5 -450 -40 2 | |a AK762 & 95 A 00 2
v AK9652 v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
* A6 ¢ KQ ¢ AK + 864 3DN-2 200 -3.0 1
* Q38 » KJ42 » Q5 » KJ632 3NE3 400 7.0 1
ooV ABN ,Q42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
N ~~~~~ v T83 N ~1~~~ 5
S ~~~~~ + J5 S ~1~~~ ¢J32
E ~~555 #9653 E 2~222 a&AT84
W ~~555 2~222
# 29 4 643 3NS-1-100 Mean: 3NS3 600 10.0 2 ||# 30 473 3CW-2 100 Mean: 3NE-3 150 50 1
v T7 2SS2110 140 A 00 2 v 74 3NW3 -400 -30  3CW-3 150 50 1
* Q92 Dif: -210 NS:-6 2NS3 150 0.0 1 ¢ A732 Dif: 500 NS:4 3NE-2 100 40 2
a.AKJTS IMP: -5 EW:1 2SS2 110 1.0 1 & QJ732 IMP: 11 EW:9 3CW-2 100 40 1
» KJ8 s T97 1NN2 120 1.0 1 ||a AT » Q984 A 00 2
v A8653 v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 410 20 1
¢ KIT + ¢ A8743 3Cs1 100 60 1 ||e QT9 + J86 3NW3 400 9.0 1
& 85 » 32 2DN-2 200 -8.0 1 ||& AKT865 a4 3NE3 400 9.0 1
¢ VAN 4AQ52 % ¢ VBN 4 KIG52
N 2~~21 «KQJ N ~~~~~ v K632
S 3~~22 #65 S ~~~~~ + K54
E ~21~~ &Qo74 E1~3~2 &9
W ~21~~ 1~3~2




v 4 —_—
7 M1=#FF >2RBERFHLeTHRF == RT 7
#1: 4 Infinity(82.45) #: 6 [J_I(79 17) #3:.5 K #%(79 11)
6 NS: ¥i545 BREBRGEO) 13 9 NS: #IEF] 58 R(BAC) 2 VP:| 12.51 7.49 Total VP: 79.17 Rank:
EW: BEk A BEZEREAC) -2 EW: [RFR BREFR(BO) -1 IMP:| 36 : 29 2
I I
# 21 a8 3NW4 -430 Mean: 6CE-2 100 7.0 1 |[# 22 a JT97 2HE-2 200 Mean: 2HXE-1 200 2.0 1
v JT63 4HW-150 -200 5CXE-1 100 7.0 1 v38 2HE-2200 150  2HE-2 200 20 3
¢ 8532 Dif: -480 NS:-6 4HW-1 50 60 1 ¢ J842 Dif: 0 NS:2 A 00 2
& AB75 IMP: -10 EW:-6 4CE4 130 20 1 & AK87 IMP: 0 EW:-2 2NS2 120 1.0 1
» AJ73 s Q A 00 2 ||a A8B654 » Q2 2HE-1 100 20 3
v AK754 v Q2 3NW4 430 60 4 ||w 75 — v AQJ642
* 76 | * AJT4 + K63 + 975
& 43 & QJT962 » J95 & QT
% ¢ VBN 4 KTI6542 FOVAN 4, K3
N ~~~~~ v 98 N 33~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ * 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 1NN4 180 Mean: 2HN4 170 2.0 1 ||# 24 » J6 3SW-150 Mean: 3SN3 140 50 1
v AKQ92 3HN3 140 110  1NN4 180 2.0 2 v Q52 2NE4 -180 -40  3SW-1 50 30 3
¢ 543 Dif: 40 NS:2  3HN3 140 1.0 2 ¢ A93 Dif: 230 NS:3 A 00 2
& A6 IMP: 1 EW:-1 2HN3 140 1.0 1 & QJ862 IMP: 6 EW:4 2SW3 140 3.0 2
& T7632 a K A 00 2 ||as AQ872 & T54 2NE4 180 -4.0 1
v 85 + v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
+ Q876 ¢ AKJ 3CE3 110 6.0 1 ¢+ QM4 ¢ K75
& 97 S » KQ8432 a K97
¢ VAN oA oo VAN 4 K3
N ~~313 #J73 N ~~~~~ v 843
S ~~313 ¢T92 S ~m~~~ ~ o T862
E 21~~~ &JT5 E ~~332 &A53
W 21~~~ ~~332
# 25 43 2HN5 200 Mean: 4HN5 450 30 5 ||# 26 a9 4SE-1 100 Mean: 4SE-1 100 70 5
v AK9852 4HN5 450 350 A 00 2 v J73 4SE4 -620 -170 A 00 2
o JT Dif: -250 NS:-4 3SW-2 200 -40 1 ¢ K983 Dif: 720 NS:7 4SE4 620 -100 3
» K865 IMP: -6 EW:-3 3HN5 200 -40 1 & AJBB3 IMP: 12 EW:10
& QT985 » K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v 63 v Q4 v AB52 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 »JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 &Q9542
W o~ ~~2~ ~~242
# 27 aT 4HWS5 -450 Mean: 6HW-1 50 80 2 ||# 28 a8 4HW-2 100 Mean: 4SW-3 150 6.0 1
v Q7 6HW-150 -310 A 00 2 v AJ874 4SW-3 150 -90  4HW-2 100 50 1
¢ T987432 Dif: -500 NS:-4 4SE4 420 3.0 2 ¢ QT975 Dif: -50 NS:5 3CW-2 100 50 1
& AT7 IMP: -11 EW:-8 4HW4 420 30 1 & 97 IMP: -2 EW:-6 4HW-1 50 40 1
& K97 & A8653 4HW5 -450 -40 2 | |a AK762 s 95 A 00 2
v AK9652 v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
* A6 ¢ KQ ¢ AK + 864 3DN-2 200 -3.0 1
* Q38 » KJ42 » Q5 » KJ632 3NE3 400 7.0 1
ooV ABN ,Q42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
N ~~~~~ v T83 N ~1~~~ b
S ~~~~~ ¢ J5 S ~1~~~ ¢J32
E ~~555 #9653 E 2~222 a&AT84
W ~~555 2~222
# 29 4 643 3NS3 600 Mean: 3NS3 600 10.0 2 ||# 30 473 2HE2 -110 Mean: 3NE-3 150 50 1
v T7 1NN2120 140 A 00 2 v 74 3NE3 -400 -30 3CW-3 150 50 1
* Q92 Dif: 480 NS:10 2NS3 150 0.0 1 ¢ A732 Dif: 290 NS:-2 3NE-2 100 40 2
a.AKJTS IMP: 10 EW:1 2SS2 110 1.0 1 & QJ732 IMP: 7 EW:9 3CW-2 100 40 1
» KJ8 s T97 1NN2 120 1.0 1 ||a AT » Q984 A 00 2
v A8653 v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 410 20 1
¢ KIT + ¢ A8743 3Cs1 100 60 1 ||e QT9 + J86 3NW3 400 9.0 1
& 85 » 32 2DN-2 200 -80 1 ||a AKT865 w4 3NE3 400 9.0 1
¢ VAN 4AQ52 % ¢ VBN 4 KIG52
N 2~~21 «KQJ N ~~~~~ v K632
S 3~~22 #65 S ~~~~~ + K54
E ~21~~ &Qo74 E1~3~2 &9
W ~21~~ 1~3~2




v 4 —_—
7 M1=#FF >2RBERFHLeTHRF == RT 7
#1: 4 Infinity(82.45) #: 6 [J_I(79 17) #3:.5 K 4312?3(79 11)
7 NS: ZHHIE 5REEEEAC) -3 5 NS: #i51H TR E)(FH0) 8 VP:| 6.86 13.14| Total VP: 77.68 Rank:
EW: EIh78 EBEEI0) -8 EW: #1E$R BRIER(BAC) 3 IMP:| 16 : 25 4
— I A
# 21 a8 4CE4 130 Mean: 6CE-2 100 7.0 1 ||# 22 » JT97 2HE-1 -100 Mean: 2HXE-1 200 20 1
v JT63 3NW4 430 -200 5CXE-1 100 7.0 1 v38 2HE-2-200 150  2HE-2 200 20 3
¢ 8532 Dif: -300 NS:-6 4HW-1 50 60 1 ¢ J842 Dif: 100 NS:2 A 00 2
& AB75 IMP: -7 EW:-2 4CE4 130 20 1 & AK87 IMP: 3 EW:2 2NS2 120 1.0 1
» AJ73 s Q A 00 2 ||a AB654 » Q2 2HE-1 100 20 3
v AK754 v Q2 3NW4 430 60 4 ||w 75 — v AQJ642
* 76 | * AJT4 + K63 + 975
& 43 & QJT962 » J95 & QT
% ¢ VBN 4 KTI6542 FOVAN 4, K3
N ~~~~~ v 98 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 2HN3 -140 Mean: 2HN4 170 2.0 1 ||# 24 » J6 2SW3 140 Mean: 3SN3 140 50 1
v AKQ92 2HN4 -170 110  1NN4 180 2.0 2 v Q52 3SN3 -140 -40  3SW-1 50 30 3
¢ 543 Dif: 30 NS:2 3HN3 140 1.0 2 ¢ A93 Dif: 280 NS:5 A 00 2
& A6 IMP: 1 EW:-1 2HN3 140 1.0 1 & QJ862 IMP: 7 EW:3 2SW3 140 3.0 2
& T7632 a K A 00 2 ||as AQ872 & T54 2NE4 180 -4.0 1
v 85 + v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
+ Q876 ¢ AKJ 3CE3 110 6.0 1 ¢+ QM4 ¢ K75
& 97 S » KQ8432 a K97
¢V AN ,A54 ¢ VAN 4 K33
N ~~313 #J73 N ~~~~~ v 843
S ~~313 ¢T92 S ~m~~~ ~ o T862
E 21~~~ &JT5 E ~~332 &A53
W 21~~~ ~~332
# 25 43 4HN5 -450 Mean: 4HN5 450 30 5 ||# 26 a9 4SE-1 -100 Mean: 4SE-1 100 70 5
v AK9852 4HN5 -450 350 A 00 2 v J73 4SE-1-100 -170 A 00 2
o JT Dif: 0 NS:3 3SwW-2 200 -40 1 ¢ K983 Dif: 0 NS:7 4SE4 620 -100 3
» K865 IMP: 0 EW:-3 3HN5 200 -40 1 & AJBB3 IMP: 0 EW:-7
& QT985 » K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v 63 v Q4 v AB52 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 &Q9542
W o~ ~~2~ ~~242
# 27 aT 4SE4 420 Mean: 6HW-1 50 80 2 ||# 28 a8 3CW-2 -100 Mean: 4SW-3 150 6.0 1
v Q7 4HW4 420 -310 A 00 2 v AJ874 3DN-2200 -90  4HW-2 100 50 1
¢ T987432 Dif: 0 NS:-3 4SE4 420 3.0 2 ¢ QT975 Dif: -300 NS:-3 3CW-2 100 50 1
& AT7 IMP: 0 EW:3 4HW4 420 30 1 & 97 IMP: -7 EW:-5 4HW-1 50 40 1
& K97 & A8653 4HW5 -450 -40 2 | |a AK762 & 95 A 00 2
v AK9652 v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
* A6 * KQ ¢ AK + 864 3DN-2 200 -3.0 1
* Q38 a KJ42 » Q5 » KJ632 3NE3 400 7.0 1
ooV ABN ,Q42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
N ~~~~~ v T83 N ~1~~~ 5
S ~~~~~ ¢ J5 S ~1~~~ ¢J32
E ~~555 #9653 E 2~222 a&AT84
W ~~555 2~222
# 29 4 643 3NS-1 100 Mean: 3NS3 600 10.0 2 ||# 30 473 3CW-2 -100 Mean: 3NE-3 150 50 1
v T7 2SS2-110 140 A 00 2 v 74 3NW3 400 -30 3CW-3 150 50 1
* Q92 Dif: 210 NS:-1  2NS3 150 0.0 1 ¢ A732 Dif: -500 NS:-9 3NE-2 100 40 2
a.AKJTS IMP: 5 EW:6 2SS2 110 1.0 1 & QJ732 IMP: -11 EW:-4 3CW-2 100 40 1
» KJ8 s T97 1NN2 120 1.0 1 ||a AT » Q984 A 00 2
v A8653 v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 410 20 1
¢ KIT + ¢ A8743 3Cs1 100 60 1 ||e QT9 + J86 3NW3 400 9.0 1
& 85 » 32 2DN-2 200 -8.0 1 ||& AKT865 a4 3NE3 400 9.0 1
¢ VAN 4AQ52 % ¢ VBN 4 KIG52
N 2~~21 «KQJ N ~~~~~ v K632
S 3~~22 #65 S ~~~~~ + K54
E ~21~~ &Qo74 E1~3~2 &9
W ~21~~ 1~3~2




v 4 —_—
7 M1=#FF >2RBERFHLeTHRF == RT 7
#1: 4 Infinity(82.45) #: 6 [J_I(79 17) #3:.5 K 4:!2?3(79 11)
8 NS: B BUEIR(EHC) 2 1 NS: ¥i8 lE3h{E(FOo) -11 VP:| 14.00 : 6.00 Total VP: 61.65 Rank:
EW: BiER SEHBREE0) 11 EW: $E{_# MER(BAC) -2 IMP:| 30 18 8
— I A
# 21 a8 6CE-2 -100 Mean: 6CE-2 100 7.0 1 [[|# 22 s JT97 2HE-1 -100 Mean: 2HXE-1 200 2.0 1
v JT63 3NW4 430 -200 5CXE-1 100 7.0 1 v38 2HXE-1 -200 150  2HE-2 200 20 3
¢ 8532 Dif: -530 NS:-6 4HW-1 50 60 1 ¢ J842 Dif: 100 NS:2 A 00 2
& AB75 IMP: -11 EW:-7 4CE4 130 20 1 & AK87 IMP: 3 EW:2 2NS2 120 1.0 1
» AJ73 s Q A 00 2 ||a AB654 s Q2 2HE-1 100 20 3
v AK754 v Q2 3NW4 430 60 4 ||w 75 — v AQJ642
* 76 | o AJT4 + K63 » 975
& 43 & QJT962 » J95 & QT
% ¢ VBN 4 KTI6542 FOVAN 4, K3
N ~~~~~ v 98 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 3HN3 -140 Mean: 2HN4 170 2.0 1 ||# 24 » J6 3SW-1-50 Mean: 3SN3 140 50 1
v AKQ92 3CE-1-100 110  1NN4 180 2.0 2 v Q52 3SW-1-50 -40  3SW-1 50 30 3
¢ 543 Dif: -40 NS:0 3HN3 140 1.0 2 ¢ A93 Dif: 0 NS:3 A 00 2
& AG IMP: -1 EW:-1  2HN3 140 1.0 1 & QJ862 IMP: 0 EW:-3 2SW3 140 3.0 2
& T7632 a K A 00 2 ||as AQ872 & T54 2NE4 180 -4.0 1
v 85 + v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
+ Q876 ¢ AKJ 3CE3 110 6.0 1 ¢+ QM4 ¢ K75
& 97 S » KQ8432 a K97
¢V AN p,AB4 ¢ VAN o, KO3
N ~~313 «J73 N ~~~~~ v 843
S ~~313 ¢T92 S ~~~~~ ¢ T862
E 21~~~ &JT5 E ~~332 &A53
W 21~~~ ~~332
# 25 43 4HN5 -450 Mean: 4HN5 450 30 5 ||# 26 a9 4SE4 620 Mean: 4SE-1 100 70 5
v AK9852 3HN5-200 350 A 00 2 v J73 4SE-1-100 -170 A 00 2
o JT Dif: -250 NS:-4 3SW-2 200 -40 1 ¢ K983 Dif: 720 NS:7 4SE4 620 -100 3
» K865 IMP: -6 EW:-3 3HN5 200 -40 1 & AJBB3 IMP: 12 EW:10
& QT985 » K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v 63 v Q4 v AB52 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~ ~ v KT8
S ~25~1 ¢K5432 S ~~~~~ o T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 3NE5 460 Mean: 6HW-1 50 80 2 ||# 28 a8 2HN-4 400 Mean: 4SW-3 150 6.0 1
v Q7 4HW5450 -310 A 00 2 v AJ874 2NE2120 -90  4HW-2 100 50 1
¢ T987432 Dif: 10 NS:-4 4SE4 420 3.0 2 ¢ QT975 Dif: 280 NS:-1  3CW-2 100 50 1
& AT7 IMP: 0 EW:4 4HW4 420 30 1 & 97 IMP: 7 EW:7 4HW-1 50 40 1
& K97 & A8653 4HW5 -450 -40 2 | |a AK762 & 95 A 00 2
v AK9652 v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
* A6 * KQ ¢ AK + 864 3DN-2 200 -3.0 1
* Q38 a KJ42 » Q5 » KJ632 3NE3 400 7.0 1
ooV ABN ,Q42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
N ~~~~~ v T83 N ~1~~~ 5
S ~~~~~ + J5 S ~1~~~ ¢J32
E ~~555 #9653 E 2~222 a&AT84
W ~~555 2~222
# 29 4 643 3CS-1100 Mean: 3NS3 600 10.0 2 ||# 30 473 3NE-2 -100 Mean: 3NE-3 150 50 1
v T7 2NS3-150 140 A 00 2 v 74 3NE-3-150 -30  3CW-3 150 50 1
* Q92 Dif: 250 NS:0 2NS3 150 0.0 1 ¢ A732 Dif: 50 NS:5 3NE-2 100 40 2
a.AKJTS IMP: 6 EW:6 2SS2 110 1.0 1 & QJ732 IMP: 2 EW:-4 3CW-2 100 40 1
» KJ8 s T97 1NN2 120 1.0 1 ||a AT » Q984 A 00 2
v A8653 v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 410 20 1
¢ KIT + ¢ A8743 3Cs1 100 60 1 ||e QT9 + J86 3NW3 400 9.0 1
& 85 » 32 2DN-2 200 -8.0 1 ||& AKT865 a4 3NE3 400 9.0 1
¢ VAN 4AQ52 % ¢ VBN 4 KIG52
N 2~~21 «KQJ N ~~~~~ v K632
S 3~~22 65 S ~~~~~ « K54
E ~21~~ Q974 E 1 3~2 &9
W ~21~~ 1~3~2




v 4 —_—
7 M1=#FF >2RBERFHLeTHRF == RT 7
#1: 4 Infinity(82.45) #: 6 [J_I(79 17) #3:.5 K #%(79 11)
9 NS: FENER 2 ERZEHC) 2 6 NS: BpS4% BRIE(FO0) 13 VP:| 7.49 12.51| Total VP: 64.44 Rank:
EW: BEsF R BEEREE(BEO) -13 EW: BRKk3h BREH(BAC) -2 IMP:| 29 : 36 7
I A
# 21 a8 3NW4 430 Mean: 6CE-2 100 7.0 1 [[|# 22 s JT97 2HE-2 -200 Mean: 2HXE-1 200 2.0 1
v JT63 4HW-1 -50 -200 5CXE-1 100 7.0 1 v38 2HE-2 -200 150  2HE-2 200 20 3
¢ 8532 Dif: 480 NS:6 4HW-1 50 60 1 ¢ J842 Dif: 0 NS:2 A 00 2
& AB75 IMP: 10 EW:6 4CE4 130 20 1 & AK87 IMP: 0 EW:-2 2NS2 120 1.0 1
» AJ73 s Q A 00 2 ||a AB654 s Q2 2HE-1 100 20 3
v AK754 v Q2 3NW4 430 60 4 ||w 75 — v AQJ642
* 76 | o AJT4 + K63 » 975
& 43 & QJT962 » J95 & QT
% ¢ VBN 4 KTI6542 FOVAN 4, K3
N ~~~~~ v 98 N 33 ~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ & 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 1NN4 -180 Mean: 2HN4 170 2.0 1 ||# 24 » J6 3SW-1-50 Mean: 3SN3 140 50 1
v AKQ92 3HN3 -140 110  1NN4 180 2.0 2 v Q52 2NE4 180 -40  3SW-1 50 30 3
¢ 543 Dif: -40 NS:1  3HN3 140 1.0 2 ¢ A93 Dif: -230 NS:-4 A 00 2
& AG IMP: -1 EW:-2 2HN3 140 1.0 1 & QJ862 IMP: -6 EW:-3 2SW3 140 3.0 2
& T7632 a K A 00 2 ||as AQ872 & T54 2NE4 180 -4.0 1
v 85 + v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
+ Q876 ¢ AKJ 3CE3 110 6.0 1 ¢+ QM4 ¢ K75
& 97 S » KQ8432 a K97
¢V AN p,AB4 ¢ VAN o, KO3
N ~~313 «J73 N ~~~~~ v 843
S ~~313 ¢T92 S ~~~~~ ¢ T862
E 21~~~ &JT5 E ~~332 &A53
W 21~~~ ~~332
# 25 43 2HN5 -200 Mean: 4HN5 450 30 5 ||# 26 a9 4SE-1 -100 Mean: 4SE-1 100 70 5
v AK9852 4HN5 -450 350 A 00 2 v J73 4SE4620 170 A 00 2
o JT Dif: 250 NS:3 3SW-2 200 -40 1 ¢ K983 Dif: -720 NS:-10 4SE4 620 -100 3
» K865 IMP: 6 EW:4 3HN5 200 -40 1 & AJBB3 IMP: -12 EW:-7
& QT985 » K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v 63 v Q4 v AB52 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 & Q9542
W o~ ~~2~ ~~242
# 27 aT 4HWS5 450 Mean: 6HW-1 50 80 2 ||# 28 a8 4HW-2 -100 Mean: 4SW-3 150 6.0 1
v Q7 6HW-1-50 -310 A 00 2 v AJ874 4SW-3 -150 -90  4HW-2 100 50 1
¢ T987432 Dif: 500 NS:8 4SE4 420 3.0 2 ¢ QT975 Dif: 50 NS:6 3CW-2 100 50 1
& AT7 IMP: 11 EW:4 4HW4 420 -30 1 & 97 IMP: 2 EW:-5 4HW-1 50 40 1
& K97 & A8653 4HW5 -450 -40 2 | |a AK762 & 95 A 00 2
v AK9652 v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
* A6 * KQ ¢ AK + 864 3DN-2 200 -3.0 1
* Q38 a KJ42 » Q5 » KJ632 3NE3 400 7.0 1
ooV ABN ,Q42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
N ~~~~~ v T83 N ~1~~~ 5
S ~~~~~ ¢ J5 S ~1~~~ ¢J32
E ~~555 #9653 E 2~222 a&AT84
W ~~555 2~222
# 29 4 643 3NS3 -600 Mean: 3NS3 600 10.0 2 ||# 30 473 2HE2 110 Mean: 3NE-3 150 50 1
v T7 1NN2-120 140 A 00 2 v 74 3NE3 400 -30 3CW-3 150 50 1
* Q92 Dif: -480 NS:-1 2NS3 150 0.0 1 ¢ A732 Dif: -290 NS:-9 3NE-2 100 40 2
a.AKJTS IMP: -10 EW:-10 2SS2 110 1.0 1 & QJ732 IMP: -7 EW:2 3CW-2 100 40 1
» KJ8 s T97 1NN2 120 1.0 1 ||a AT » Q984 A 00 2
v A8653 v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 410 20 1
¢ KIT + ¢ A8743 3Cs1 100 60 1 ||e QT9 + J86 3NW3 400 9.0 1
& 85 » 32 2DN-2 200 -8.0 1 ||& AKT865 a4 3NE3 400 9.0 1
¢ VAN 4AQ52 % ¢ VBN 4 KIG52
N 2~~21 «KQJ N ~~~~~ v K632
S 3~~22 65 S ~~~~~ « K54
E ~21~~ Q974 E 1 3~2 &9
W ~21~~ 1~3~2




v ‘; —_—
7 11 F¥<F 2ABERFHLETHRE == RT 7
#1: 4 Infinity(82.45) #: 6 [J_I(79 17) #3:5 K 4312?3(79 11)
1 O NS: (BC) 0 3 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: -20.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 10
e —————
# 21 a8 A Mean: 6CE-2 100 7.0 1 |[# 22 a JT97 A Mean: 2HXE-1 200 2.0 1
v JT63 A 200 5CXE-1 100 7.0 1 v38 A 150 2HE-2 200 20 3
¢ 8532 Dif: 0 NS:0 4HW-1 50 60 1 ¢ J842 Dif: 0 NS:0 A 00 2
& AB75 IMP: 0 EW:0 4CE4 130 20 1 & AK87 IMP: 0 EW:0 2NS2 120 1.0 1
» AJ73 s Q A 00 2 ||a AB654 » Q2 2HE-1 100 20 3
v AK754 v Q2 3NW4 430 60 4 ||w 75 — v AQJ642
* 76 | * AJT4 + K63 + 975
& 43 & QJT962 » J95 & QT
% ¢ VBN 4 KTI6542 FOVAN 4, K3
N ~~~~~ v 98 N 33~~3 »KT93
S ~~~~~ + KQ9 S 33~~3 ¢AQT
E 4~3~3 &K E ~~~~~ * 6432
w 4~3~3 W~~~ ~~
# 23 » Q98 A Mean: 2HN4 170 2.0 1 ||# 24 » J6 A Mean: 3SN3 140 50 1
v AKQ92 A 110  1NN4 180 2.0 2 v Q52 A 40  3SW-1 50 30 3
¢ 543 Dif: 0 NS:0 3HN3 140 1.0 2 ¢ A93 Dif: 0 NS:0 A 00 2
& A6 IMP: 0 EW:0 2HN3 140 1.0 1 & QJ862 IMP: 0 EW:0 2SW3 140 3.0 2
& T7632 a K A 00 2 ||as AQ872 A T54 2NE4 180 -4.0 1
85 + v T64 3cE1 100 00 1 ||e K76 v AJTO INE4 80 40 1
+ Q876 ¢ AKJ 3CE3 110 6.0 1 ¢+ QM4 ¢ K75
& 97 S » KQ8432 a K97
e VABN oA4 oo VAN 4 K3
N ~~313 #J73 N ~~~~~ v 843
S ~~313 ¢T92 S ~m~~~ ~ o T862
E 21~~~ &JT5 E ~~332 &A53
W 21~~~ ~~332
# 25 43 A Mean: 4HN5 450 30 5 ||# 26 a9 A Mean: 4SE-1 100 70 5
v AK9852 A 35 A 00 2 v J73 A 170 A 00 2
o JT Dif: 0 NS:0 3SW-2 200 -40 1 + K983 Dif: 0 NS:0 4SE4 620 -100 3
» K865 IMP: 0 EW:0 3HN5 200 -40 1 & AJBB3 IMP: 0 EW:0
& QT985 » K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v 63 v Q4 v AB52 _I_ v Q94
* 976 + AQ8 * AJ52 ¢ Q7
& AQ2 & 9743 K & T7
¢ VABN A7 o ¢VABN 443
N ~25~1 «JT7 N ~~~~~ v KT8
S ~25~1 ¢K5432 S ~~~~~ ¢ T64
E ~~~1~ &JT E ~~242 &Q9542
W o~ ~~2~ ~~242
# 27 aT A Mean: 6HW-1 50 80 2 ||# 28 a8 A Mean: 4SW-3 150 6.0 1
v Q7 A 310 A 00 2 v AJ874 A 90  4HW-2 100 50 1
¢ T987432 Dif: 0 NS:0 4SE4 420 3.0 2 ¢ QT975 Dif: 0 NS:0 3CW-2 100 50 1
& AT7 IMP: 0 EW:0 4HW4 420 30 1 & 97 IMP: 0 EW:0 4HW-1 50 40 1
& K97 & A8653 4HW5 -450 -40 2 ||a AK762 & 95 A 00 2
v AK9652 v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
* A6 ¢ KQ ¢ AK + 864 3DN-2 200 -3.0 1
& » KJ42 » Q5 & KJ632 3NE3 -400 -7.0 1
ooV ABN ,Q42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
N ~~~~~ v T83 N ~1~~~ 5
S ~~~~~ ¢ J5 S ~1~~~ ¢J32
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